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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %
1 (a) (i) 521 0.8 0.4 1 84.8 99.6
1 (b) 523 4.3 1.4 6 71.8 100
1(d) 520 4.8 1.8 8 59.5 99.4
1 (f) 515 5.3 2.1 10 53.1 98.5
2 (b) 521 2.9 1.5 5 58.2 99.6
2 (d) 513 3 1.6 8 38 98.1
2 (f) 489 4.9 24 10 48.8 93.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (b) | With the aid of the data, outline why wages might be low in ‘cleaning, care work
and retail’. [6]
AO1 AO2
Band Does the answer understand the factors that | Has the case been used well to explain
keep wages low in these sectors? why wages are low in these sectors?
4 marks 2 marks
3-4 marks 2 marks
Good understanding Good application
2 Answer shows a good understanding of at Answer uses the data effectively to
least 2 factors that might explain low wages. | explain why at least 2 factors identified in
the data will cause low wages.
1-2 mark 1 mark
Limited understanding Limited application
1 Answer shows a basic understanding of why | Answer is only applied to 1 factor
wages are low in these sectors. Either identified in the data.
several factors are identified without
showing understanding or only 1 factor is
developed.
0 marks 0 marks
0 Response not credit worthy or not Response not credit worthy because the

attempted.

factors from the data are not relevant to
the response or are not present.

Indicative content

Answer identifies factors identified in the data: labour intensive, low profit margins,
competitive environment and poor productivity. Other factors could include low skill levels
and low level of unionisation. Answers may use demand and supply of labour
analysis/diagram applying elasticity.

Labour intensive = wages are a high proportion of total costs and thus increasing wages
have a big impact on prices.

Low profit margins = less scope to pay high wages.

Competitive environment = market is price sensitive and wage increases can impact on
competitiveness.

Poor productivity/low skills = wage increases limited by efficiency of the workforce. The

value —added of workers is low thus wages are low.

Low level of unionisation = workers are unable to push for higher wages by collective
bargaining.

Any other relevant points should be fully credited.

©WJEC CBAC Ltd.
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In this case, the answer shows a good understanding in general of factors that make wages low in some sectors and support their answer with an integrated diagram. The problem is that there is almost no reference to the context – some reference to the unskilled nature of work (mentioned in the case) but nothing more. Therefore it scores AO1: 2 and AO2: 1.
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This answer is far better applied – they identify that the sector is labour intensive and outline the consequences and the same with the highly competitive nature of the sector. 



They add a final comment about low profit margins. The explanation of why wages are low isn’t that well developed, so overall it’s worth AO1: 1 and AO2: 4
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The impact on wages is well outlined for AO1: 2 and there is good use of the competitive market context. 



In the end, the answer is a little narrow so it gets AO1: 2 for good understanding of why wages are low in principle and AO2: 2 for a limited use of the context – one piece reasonably developed, making 4 in total.
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Answer all the questions.
Low pay remains a problem

The UK introduced its first National Minimum Wage in 1999, which was fixed at £3.60 per hour
for adults (over 21 year-olds). By October 2015 it had been raised in stages to £6.70 per hour.
However, by 2015 the issue of a minimum wage aimed at benefitting low paid workers had
become part of a much wider issue relating to government spending and productivity.

Many low paid workers have felt that the National Minimum Wage did not give them an income
high enough to cover basic living costs such as food, fuel and housing. Indeed an independent
body, the Living Wage Foundation, calculated a wage that was needed to cover these basic
living costs. In 2015, when the National Minimum Wage stood at £6.70 per hour, this wage was
estimated to be £8.25 per hour (see Table 1).

Table 1
Year Natic\J/r\}ZIgl(\E/li(gi;"l um estirl;;\;ltggo\g\{_ﬂgéw;%?r?:gggd to| Difference (£)
cover basic living costs (£)
2011 6.08 7.20 112
2012 6.19 745 1.26
2013 6.31 7.65 1.34
2014 6.50 7.85 1.35
2015 6.70 8.25 1.55

By the end of 2015 the employment rate for 16 to 64-year-olds had risen to 73.3 % with just over
30 million people in work, the highest since records began. Unemployment in the UK was only
5.7 %, much lower than the European Union (EU) average of almost 10 % and economic growth
in the UK was over 2% per year.

However, Britain’s economy had grown mainly in the service sector and many people working
in this sector are employed in low-paid jobs such as cleaning, care work and retail. These are
also areas of the economy which are labour intensive, with low profit margins and facing a very
competitive environment. Wages in these and other sectors have also been damaged by the UK’s
poor productivity levels and the inward migration of many people of working age from the EU.

If UK productivity matched that of the US,
the UK economy would grow by 31 %
£in

2.5 £2.27tn

2| pi73tn —

1.5
1
0.5
0

Current UK GDP UK GDP if productivity
matched US levels

© WJEC CBAC Ltd. (B520U20-1)
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The low pay issue in the UK became complicated further in 2015-16 by the government’s need
to reduce its budget (fiscal) deficit. Since 1999, successive governments have given tax credits
to the low paid, especially those with children. These tax credits topped up their incomes but the
cost to the government had reached £30 billion in 2015 compared to just £1 billion in 1999. The
government proposed to reduce the amount it paid out in tax credits by over £4 billion but this
would have left many low paid workers significantly worse off.

The government believed that some employers had been using tax credits as an excuse for
paying low wages to their workers. As a result, and in order to partially compensate for the loss
of tax credit income, the government created their own National Living Wage which was to start
from April 2016 at £7.20 per hour rising to £9 per hour by 2020.

John Cridland, Director-General of the CBI, Britain’s leading employers’ organisation, said it
was a “big ask” for firms that employed large numbers of low-paid staff to raise wages by 5%
a year to £9 an hour by 2020. He described the government’s “National Living Wage” as a risk
and warned it would speed up the replacement of workers with technology if businesses found
it too expensive. The TUC, which represents trade unions, welcomed the National Living Wage
but pointed out that it only applied to over 25-year-olds and said: “the rate set for the National
Minimum Wage for the under-25s must rise sharply in the next review if discrimination is to be
avoided.”

Although this new National Living Wage, together with a rise in income tax allowances, will
benefit the low paid, the reduction in tax credits would have left 3 million workers worse off.
The Chancellor of the Exchequer George Osborne said that he wanted Britain to become ‘a
high wage, low tax, low welfare economy’ but that to achieve this in the long term would require
a significant improvement in the UK’s poor levels of productivity. In December 2015 under
enormous political pressure the Chancellor abandoned his changes to tax credits.

(b) With the aid of the data, outline why wages might be low in ‘cleaning, care work and retail’
(line 17). [6]

© WJEC CBAC Ltd. (B520U20-1) Turn over.
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1 (d) | Using a diagram, and with reference to the data, discuss the likely effects of a
further increase in migrants from the European Union on wages in the UK. [8]
AO1 AO2 AO3 AO4
Has the diagram Has the context Has the diagram Have the arguments
been drawn been well used? been used to been qualified?
Band correctly? explain the effects
of inward
migration?
2 marks 2 marks 2 marks 2 marks
2 marks 2 marks 2 marks 2 marks
Good Good application | Good analysis Good evaluation

understanding

Diagram is
correctly drawn
showing the supply
2 curve for labour
shifting to the right
with a fall in the

Data has been
well used on
either side of the
case.

Answer uses the
diagram well to
explain the impact
on wages.

The supply of
labour will rise

One evaluative point is
fully developed e.g. only
wages in some jobs will
be affected such as most
EU migrants are not in
the high skill sectors.

Diagram is broadly

Relevant data

Answer identifies
the key effects on

wage rate. shifting the supply
curve to the right

Diagram is causing a fall in
referenced in the wage rates.
answer.

1 mark 1 mark 1 mark 1 mark
Limited Limited Limited analysis Limited evaluation
understanding application

One evaluative point is
merely identified but not

1 correct but has been used wages of an developed e.g. not all
contains minor but not well increase in supply jobs are affected.
errors or developed. of labour.
omissions. There is merely

assertion rather
than explanation.
0 marks 0 marks 0 marks 0 marks
No diagram Data has been Response is not There is no attempt at

attempted or the
diagram is totally
incorrect.

used in passing
but does not add
to the argument.

creditworthy.

evaluation or the
evaluation is incorrect.

©WJEC CBAC Ltd.






Indicative content

AO1 and AO3
Candidate draws an accurate labour market diagram showing the supply curve shifting to the
right.

QL

Influx of labour will depress wages because there is an increased supply of labour at W1 and
thus wages will have to fall to W2 to bring the market back to equilibrium.

AO2

Data implies heavy inflow of migrants into certain sectors. Perhaps more in some than
others.

Increased national minimum/living wage may limit any impact.

Unemployment is very low, strong growth and high employment rate.

May depend on which EU countries that they come from —level of development may be
important.

AO4

Not all labour markets will be affected as most migrants are not in the high skill sector. Thus
the main effects will be in the low skill sectors.

Depends on what is happening to labour demand.
Depends on the number of migrants.
Minimum wage legislation will mitigate the fall in wages.

Any other relevant points should be fully credited.

©WJEC CBAC Ltd.
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In this case there is an appropriate diagram, which is referenced and clearly analysed with good reference to excess supply at the original wage rate. 



There is absolutely no use of the context of the case at all, but there is some qualification at the end, albeit throwaway. This gave a total of 5: 
AO1: 2 Appropriate diagram, integrated into the text.
AO2: 0 Could have been written without having looked at the case study
AO3: 2 Good use of the diagram to explain why wages fall
AO4: 1 Short throwaway qualification.










w2
/ /\Q\

Q\QO\A‘\’ \\"t’} = g» k‘\xpCu(
&Q,N\Mﬂd\ ( \o\\ ﬁ§\

e “CRag N P <Srcwx-\s AN A SR “ti~e @
e N I ¢ wdorkars owaed \edAe \'\\ ‘3 S\’\W\\l
. - —
6}8 . < 1 e =5 7 - s 6\,\9 DAL \evaael Yo

& o et e Erom— - R VS I S FUNPEPSURN r\¢:1
—+i~e li‘Le\ Q@ccﬁx s@ G £ G o S
Y= e tre cmoge redle Ao [Dwser.,  [es
Loe 00N e Yoo use ?% & frms A~

akjnﬂ,a, e semesn e &SL\:j £ o~ BNS R
Here s oD M\f)\ro\v\'*i e eoly evese Los
e lower FF\Y—(; R
N -HO,NQ,\/(,\”, e \,_.,acx;\e ey L - Hoe £EO ~e—
e e Steled se H,{:) —ony e ecse  tuo
?rocwc-‘\nfntj T e\ s . P«—<—<—D"’\*"“\j “+s tvae.

Actoe e~ wlease L~ f reth O v s +3 ev=ls

Com ol Q| ot e e e ConO—y & jwow"*'\—« ‘5‘6

= AN (W £t r—aly CCCi/Nue e

'F(‘%\\“‘g PR A % fmtj [,\]3\/\? r Lch_w\C.’-'-ZJ o~
‘e \o:j s e

Ao oot Fe Netrae—o) a-doaaoee— LD C\B =
7 't
Hrcre e ANt e o Co\ '~ egqe et

. CVD ¢ ow \ewdef wi‘g& rode Cor ey S

2
@ 7 marks.




This question tested all 4 AOs. There were 2 marks for an integrated diagram (AO1), 2 marks for using the case (generally in evaluation) (AO2), 2 marks for explaining clearly how wages would be reduced (AO3) and then 4 marks for discussing the extent to which this would be true (AO4).



In this case, there is an integrated diagram which is incorporated for AO1: 2. There is some attempt to develop the diagram and explain why wages fall, so AO3:2. 



There is then an evaluative section that uses the case a little and makes a couple of partially developed points, each of which could have gone further. Hence the application and evaluation are both limited, but with a 2 band limited band for AO4, there is enough for it to be top of band. 



AO1: 2
AO2: 1
AO3: 2
AO4: 2
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In this answer there is an integrated diagram for AO1: 2. The diagram is correct and has been referenced in the actual text of the answer. 



There is some development of the point to explain why wages fall, but it isn’t developed well, so AO3: 1. 



There is then some very throwaway evaluation, but on this question most answers failed to evaluate at all, so it was just worth AO4: 1.



The answer has no grounding in the case at all – it could have been written without the data response having been read, which therefore means AO2: 0. Taken as a whole, the answer is worth 4: AO1: 2, AO2: 0, AO3: 1 and AO4: 1
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Answer all the questions.
Low pay remains a problem

The UK introduced its first National Minimum Wage in 1999, which was fixed at £3.60 per hour
for adults (over 21 year-olds). By October 2015 it had been raised in stages to £6.70 per hour.
However, by 2015 the issue of a minimum wage aimed at benefitting low paid workers had
become part of a much wider issue relating to government spending and productivity.

Many low paid workers have felt that the National Minimum Wage did not give them an income
high enough to cover basic living costs such as food, fuel and housing. Indeed an independent
body, the Living Wage Foundation, calculated a wage that was needed to cover these basic
living costs. In 2015, when the National Minimum Wage stood at £6.70 per hour, this wage was
estimated to be £8.25 per hour (see Table 1).

Table 1
Year Natic\J/r\}ZIgl(\E/li(gi;"l um estirl;;\;ltggo\g\{_ﬂgéw;%?r?:gggd to| Difference (£)
cover basic living costs (£)
2011 6.08 7.20 112
2012 6.19 745 1.26
2013 6.31 7.65 1.34
2014 6.50 7.85 1.35
2015 6.70 8.25 1.55

By the end of 2015 the employment rate for 16 to 64-year-olds had risen to 73.3 % with just over
30 million people in work, the highest since records began. Unemployment in the UK was only
5.7 %, much lower than the European Union (EU) average of almost 10 % and economic growth
in the UK was over 2% per year.

However, Britain’s economy had grown mainly in the service sector and many people working
in this sector are employed in low-paid jobs such as cleaning, care work and retail. These are
also areas of the economy which are labour intensive, with low profit margins and facing a very
competitive environment. Wages in these and other sectors have also been damaged by the UK’s
poor productivity levels and the inward migration of many people of working age from the EU.

If UK productivity matched that of the US,
the UK economy would grow by 31 %
£in

2.5 £2.27tn

2| pi73tn —

1.5
1
0.5
0

Current UK GDP UK GDP if productivity
matched US levels
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The low pay issue in the UK became complicated further in 2015-16 by the government’s need
to reduce its budget (fiscal) deficit. Since 1999, successive governments have given tax credits
to the low paid, especially those with children. These tax credits topped up their incomes but the
cost to the government had reached £30 billion in 2015 compared to just £1 billion in 1999. The
government proposed to reduce the amount it paid out in tax credits by over £4 billion but this
would have left many low paid workers significantly worse off.

The government believed that some employers had been using tax credits as an excuse for
paying low wages to their workers. As a result, and in order to partially compensate for the loss
of tax credit income, the government created their own National Living Wage which was to start
from April 2016 at £7.20 per hour rising to £9 per hour by 2020.

John Cridland, Director-General of the CBI, Britain’s leading employers’ organisation, said it
was a “big ask” for firms that employed large numbers of low-paid staff to raise wages by 5%
a year to £9 an hour by 2020. He described the government’s “National Living Wage” as a risk
and warned it would speed up the replacement of workers with technology if businesses found
it too expensive. The TUC, which represents trade unions, welcomed the National Living Wage
but pointed out that it only applied to over 25-year-olds and said: “the rate set for the National
Minimum Wage for the under-25s must rise sharply in the next review if discrimination is to be
avoided.”

Although this new National Living Wage, together with a rise in income tax allowances, will
benefit the low paid, the reduction in tax credits would have left 3 million workers worse off.
The Chancellor of the Exchequer George Osborne said that he wanted Britain to become ‘a
high wage, low tax, low welfare economy’ but that to achieve this in the long term would require
a significant improvement in the UK’s poor levels of productivity. In December 2015 under
enormous political pressure the Chancellor abandoned his changes to tax credits.

(d) Using a diagram, and with reference to the data, discuss the likely effects of a further
increase in migrants from the European Union on wages in the UK. [8]

© WJEC CBAC Ltd. (B520U20-1) Turn over.
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2 (f)

Discuss whether the factors outlined in the article are likely to increase or reduce the

rate of growth of Indonesia’s long run aggregate supply over the next few years. [10]
AO1 AO2 AO3 AO4
Has good Has the case of Has the case for Have effective

understanding of

Indonesia been

rising potential

counterarguments been

Band ‘economic potential’ well used? growth been made made?
been demonstrated? fully?
2 marks 2 marks 2 marks 4 marks
Excellent evaluation
Strong counterargument
that comes to a final
judgement about whether or
not potential growth will
increase.
2 marks 2 marks 2 marks 3 marks
Good understanding | Good application | Good analysis Good evaluation
Good understanding | 2 relevant factors | Arguments have Strong counterargument
of potential growth is | have been been well with at least 1 well
demonstrated developed in developed on one | developed and
through words or terms of their side of the contextualised counter-
diagrams. impact on argument showing | argument (which may take
2 potential growth | a good the form of qualifiers to the
that are understanding of original argument) and will
Indonesia- why potential probably have more even if
specific. growth might or only 1 is contextualised.
might not be
created. Or
2 well developed non-
contextualised arguments.
1 mark 1 mark 1 mark 1-2 marks
Limited Limited Limited analysis Limited evaluation
understanding application
Either one factor Reasonable
Some understanding | 1 relevant factor | has been counterargument.
1 of potential growth, has been developed fully or
but not convincing — | developed. a range have been Answers in this band may
maybe looks at only not be well contextualised or
one aspect or deyeloped more may lack a degree of
conflates with briefly. development.
demand growth.
0 marks 0 marks 0 marks 0 marks
Potential Factors have Impact on Counterarguments are only
growth/output not been identified potential growth is | asserted.
0 understood. but not asserted rather

developed.

than explained in
terms of factors of
production.

©WJEC CBAC Ltd.






Indicative content:

AO1:

Reference is made to potential output being increased by some combination of an increase
in the quantity, quality and efficiency of use of factors of production. AD/AS diagrams with
(LR)AS shifting to the right will also be effective here, as will PPF diagrams.

AO2

Rate of growth will not increase:

e Failure to invest in infrastructure

Weak supply side in terms of bureaucracy

Weak economic growth and rising u/e may deter investment

Shortages of skilled workers in key value added areas

Falling commodity prices likely to deter investment

Rising unemployment will hit the tax base reducing government capital spending
Exodus of skilled ex-pats

Rate of growth will increase:

e Rapidly rising workforce — demographic premium

Falling exchange rate may attract investment in export facing sectors

Companies attempting to boost productivity

Interest rate cut for small businesses (although are they the key?)

Greater free trade integration may increase competition/stimulate investment/improve
exchange of ideas

AQO3

Will link AO2 points to underlying theoretical factors in terms of what actually increases
economic potential — hence links back to FOPs.

AO4

Will pick up on counterarguments from AO2 or may look to qualify the significance of
arguments — sizing them. This is an important skill and should be credited.

©WJEC CBAC Ltd.
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In this case, the answer is very off-centre. The opening section talks about the infrastructure programme, but focusses on AD rather than LRAS. 



The next section again focusses on AD, so isn’t really answering the question and the following section on low interest rates has the same focus on AD.
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Right at the end, the answer suddenly shows an understanding of growth of LRAS, but the entire rest of the answer has been unrelated to it.



Therefore it is worth AO1: 2 – good understanding of LRAS and AO2: 1 Limited use of the case – some examples of relevant factors used (but unfortunately on AD rather than LRAS). There is no analysis of LRAS and no relevant evaluation, making a total of 3.
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The question was supposed to focus on the growth of LRAS in the context of the entire Indonesian case and all four AOs were assessed – AO1 required an understanding of long run growth, AO2 was using the case, AO3 was explaining how growth would be affected and AO4 was for discussing the extent to which it would be affected positively.



This was a good attempt of the answer, immediately showing a clear understanding of potential growth for AO1: 2. The unemployment point isn’t really relevant to long run growth and therefore the evaluation of that point is also irrelevant. 



The infrastructure point is valid, relevant but not developed and the qualification is partially relevant for some AO4. 
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The point about Indonesian emigration is valid, but again not fully developed and the following point on interest rates is again well applied, but not developed and the evaluation is really just throwaway.



AO1: 2 Good understanding of potential growth
AO2: 2 Good application to the case
AO3: 1 Limited analysis of how growth is created
AO4: 2 Limited evaluation of the extent to which growth will be created.
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In this case, the answer is focused on the case, but the development is weak. 



After that the answer is reasonable but underdeveloped all the way through. Therefore it gets 1 for AO2 – some use of the case, 1 for AO3 – limited explanation of how growth will occur and 1 for AO4 for the admin and land disputes.



It is possible that the candidate was pushed for time, because it had the framework for a really good, contextualised answer.



There is good understanding of potential growth – reasonable diagram (admittedly with a left/right error above it) supported by clear understanding of LRAS making AO1:2.
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Rising unemployment piles up problems for Indonesian President

Indonesian companies are cutting jobs as they face the weakest economic growth in six years,
adding to the troubles facing President Joko Widodo, who was elected last year on promises to
create an economic recovery.

Diagram 1
% INDONESIA GDP ANNUAL GROWTH RATE %
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Source: www.tradingeconomics.com : statistics indonesia

Government data might suggest no cause for alarm — unemployment was 5.81 % in February,
up only slightly from 5.70% a year earlier — but the official numbers are notoriously unreliable
and young people are being hit hard; the International Labour Organization estimated the youth
jobless rate was more than 20 % in 2013, and economists believe it is higher now.

About a third of the workforce is aged 15 to 29. Such a young population could give a real boost
to the Indonesian economy, the sort of boost that China and South Korea enjoyed a generation
ago — but only if there are jobs for the 2 million people joining the workforce each year.

JOBLESS IN INDONESIA

When he took office eight months ago, President Widodo said he would pour billions of dollars
into infrastructure and support growth in manufacturing.

But the promised spending on roads, power plants and ports has not happened, largely because
of administrative hold-ups and land disputes, and a shortage of skilled labour is holding back
growth in value-added industries such as electronics and computer games.

Meanwhile, labour-intensive industries such as textiles have been hit by the Indonesian currency’s
(the rupiah) fall to a 17-year low, which has raised the cost of imported raw materials. Indonesia’s
persistent current account deficit, slow GDP growth and a slump in prices for commodities
like coal and palm oil have made the rupiah the worst-performing currency in Asia this year.
Consequently, businesses are looking to increase productivity which is adding to unemployment
in the short run.

© WJEC CBAC Ltd. (B520U20-1)
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Unemployment in turn is hitting consumption, which makes up more than half of Indonesia’s
aggregate demand. Car sales in May 2015 fell 18.4 % from a year earlier, the ninth decline in
a row. Arif Budimanta, adviser to the Finance Minister, said the government was introducing
measures such as big cuts in interest rates for small businesses and removing tax on luxury
goods to help stimulate consumption.

The economic slowdown is also affecting higher paid jobs, including those in financial services.
As a result, the number of high skilled foreigners working in Indonesia dropped by 20 % last year
as they relocated to Western countries with better opportunities.

FREE TRADE

In November 2015 Indonesia joined 9 other countries in signing an agreement to create even
closer economic and social links with nearby economies in the hope that this will stimulate
investment and growth. Although many tariffs were eliminated between these countries long
ago, the new agreement seeks to create genuine free trade in politically sensitive sectors
such as agriculture, cars and steel. This increase in competition could put further pressure on
Indonesia’s struggling economy.

Adapted from: http://www.reuters.com/article/indonesia-unemployment

() Discuss whether the factors outlined in the article are likely to increase or reduce the rate
of growth of Indonesia’s long run aggregate supply over the next few years. [10]
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